Discovering Stalin’s rule of USSR

Stalin: A man of steel or a man of rust?
Did Stalin bring more harm than good to Communist Russia?



Discover the information and type in the information accordingly.


Part 1: Why did Stalin industrialise the USSR?

What are the 3 most important reasons for the rapid industrialisation led by Stalin. Explain why you think each reason was important. 


	Reason
	Why it is important

	1.
	






	2.
	






	3.
	



















	
	Industrialisation
	Collectivisation

	Reasons for implementing the policy
	
	

	Measures taken to enforce the policy

	
	

	Successes of the policy

	
	

	Failures of the policy
	

	

	Human cost of the policy
	

	




Part 2: How did Stalin consolidate his power?


	Methods of control
	Example
	Impact 

	Making people afraid: Spread of Fear through purges and trial

	

	


	Propaganda


	

	


	Education


	

	


	Control of mass media


	

	


	Cult of personality


	

	















Evaluation of Stalin’s rule

What is your opinion: Did Stalin bring more harm than good to Communist Russia

	Good
	Bad
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